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(a) Using a calculator, find to 3 significant figures

(i) log, 5 + logs 2 UO) 3(1) +3x = 5(3)

(ii) log 25~ In2
(iii) 10g 200 + logs 50 — log 20 + In 10

b+3x=19
3x=9

131

(0) Solve3log 4 + 8 = 5log, 216,
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Solve 22— 24(2%) + 128 =0,
O Spek 4o Wden quediabic
2% - ()
@ tewnte
) - 23 280
® s a:f
“'X -1ty 280 ng
(4-16)(y-8)=0 t,ﬁg
(5 gk
=%\

Bl

 atternabively

Peg T g lb=x kX
x =34





image8.png
(a) On the same axes, sketch the graphs o-n,
Label any points where the graphs intersect the coordinate axes.

Write down the equations of any asymptotes.

(b) Write down the gradient of y = ¢* at the point (0, 1).
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() On the same axes, sketch the graphs of y = e* and y = ™.
Label any points where the graphs intersect the coordinate axes.
Write down the equations of any asymptotes.
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(b) Write down th- o.al the point (0,1).
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(a) lee.m'

te down an expression lm.

(b) Giveny = 2¢2* write down an expression for .

(c) Find the gradient of y = 3¢~ at the point where x = 3.
Give your answer in the form pe, where p and g are integers to be found.
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() Given y =

y "
‘write down an expression for 5.

(b) Given y = 2¢* write down an expression rm.

(c) Find the gradient of y = 3¢ 2 at the point where x = 3.
Give your answer in the form pe, where p and g are integers to be found.
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ay

(a) Given y = e** write down an expression for .

(b) Given y = 2¢2* write down an expression for 2.

(c) Find the gradient of y = 3¢ 2 at the point where x = 3.
Give your answer in the form pe*, where p and g ar-m be found.
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(a) (i) Write down th’oly =e™,
(ii) Find the gradient of y = e~3* at the point where

[2]

(b) (i) In terms of e, write down the gradient of y = e~** at the point where x = 2.
(ii) Find the value for x for which the gradient of y = e~ is —3¢~'2,

Fsavemyexams





image14.png
(a) (i) Write down the gradient of y = e~3%,
(ii) Find the gradient of y = e~>* at the point where x = 0.
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(b) (i) In terms of e, write down mpf 'y = e~ at the point where x = 2.
(ii) Find the value for x for which the gradient of y = e~ is —3¢~'2,
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The function f(x) is defined by-lorx €R.

(@) () Find
(ii) On the same axes, sketch the graphs nm“”
Label any points where the graphs inte e coordinate axes.
8]
(b) Describe the transformation from y = f(x) to y = —f(x).
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The function f(x) is defined by f(x) = 2¢* for x € R.

x=|
(@) () Find f(~x).
(ii) On the same axes, sketch the graphs of y = f(x) and y = f(—x). H TS \\j
Label any points where the graphs intersect the coordinate axes. | 2
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Solve 8e* + 15 = 0, giving your answers to 3 significant figures.
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On the same axes, sketch the graphs of n labelling any points where
g any p

- .
the graphs cross the coordinate axes and writing down the equation of any asymptote. Y g 3 Y= 2= exponential,
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(a) Sketch the graph o’smlmg whether this graph indicates exponential
growth or exponential decay.

(b) Find the exact value of y when x = 3.
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(a) Sketch the graph of y = 2, stating whether this graph indicates exponential
growth or exponential decay.

(b) Find [h./alue of y when x
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Write down the value o.. the following statements.

(@) log,8=3 a= ‘ox
o 2 log,a
(iv) logsa =1
“ () logue -2
10'=a

Fsavemyexams





image5.png
(a—, find to 3 significant figures
(i) log; 5 + logs 2
(ii) log 25 — In 2 ! 2 3

(iii) log 200 + logs 50 — log 20 + In 10
: log 11 Log n
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